UG-239 BAF-23

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year
Accounting and Finance
COMMERCIAL LAW AND INDUSTRIAL LAW

Time : 3 hours Maximum marks : 75
PART A — (8 x 5 = 15 marks)
Answer any THREE questions.

1. Discuss the rules regarding the consideration.
&(HSSlev 2 e ellFlser GMSs efleundlsse,b.

2. Define a contract of bailment. What are its
essentials?

PUUdLe| @UubssHoar  cuarumsEs. Qe
S| DEFMBIGET WITENE?
3. Discuss the rights and duties of a seller.

@ edpuemanureriler o MepsET OMID H_MOSET

G@MSg elleundEsaLb.



Discuss 1n detail about the welfare facilities
offered to employees.

UanflumenTa@pdsE — UPBISLULIMD  Boer — FTihS
augdlasenaris upml allfleurs elleurdlssaib.
What are the sickness and disablement benefit
available for the workers?
vaflwreris@Erd@ eu@h Crmi wHmb CFwuedpsss
Qe Cumgl SlepL&@GLb FQIMSSHET WITEn6?

PART B — (4 x 15 = 60 marks)

Answer any FOUR questions.
Explain the essentials and legal rules for a valid
offer.
Qevguiqurghd SsHwumeulu womb gL alfser
umml eNeT&EHeyLD.
Explain the rights and duties of an agent.
(PSHEU(HED LWL 2 MewameTuLd, FHL_MLOSEETLLD
oNleTE G
Discuss the rights and obligations of a finder of
goods.

el inmert o Menser wOHNID SLendemer LM

eleundlés.
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10.

11.

12.

Outline the causes of industrial accidents. How
can accidents be avoided?

Qampinerene eluggissmean sTrahbisamend Camgl (Hd
STL(HBIGET. eSLSHISET eTeueumn SellTEHEILL QTD?
What are the different types of benefits provided
by the Employees State Insurance Act 19487
serlwim  ors  sTSLHE b 1948 euprmdlw
LOCeUM QUESIITET HETENLOSET WITEnE?

What are the major provisions of Workmens
Compensation Act?

QemPereriseaiiar @S HF FlLgdHear sl
el laer wreneu?

What are the major provisions of factories Act?

Qamflharenager &L SSlem (psdl edldlseT eramen?
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UG-241 BAF-25

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year
Accounting And Finance
BUSINESS ENVIRONMENT

Time : 3 hours Maximum marks : 75

SECTION A — (3 X 5 = 15 marks)
Answer any THREE questions.

1. Discuss the features of business environment.

auanfla @ pedlen jbamigamearts LHM efleumdlése,b.

2. Explain the role of Government in the promotion
of business.
cuentls 2e1dG6dlLIL96 S|TFTRIGSS 60T LIBIeHS
cllemd @ mige.

3.  Discuss the merits and demerits of multinational
corporations.

uenerm_(h  Blmeuarmiseatiean  BETEnOSET  LOHMILD
@apurhisamer LUnPl elleimdlEseLb.



Discuss impact of foreign culture over Indian
Business.

@pdu  euremtiugded  Ceuelipri(h  seondsmysSSen
STESSMNS 6Hl6TEHEs5.
Explain the functions of IDBI.
olgLilen Geuumhsener elemdse, L.
SECTION B — (4 x 15 = 60 marks)

Answer any FOUR questions.
Explain the different environmental factors
influenced by business.
aumanflu @Lpedlen LIVGoum &OMF @GO sTranilsamar
AR
Give a brief note on salient features of directive
principles of state policy.
9yl QareTenss@hsE auWlaT (Hb Cblpanmaetien
Spliy ganan s - @ Sn GHIUY 5[55.
Explain the impact of economic environment on
business.
lwrumpgdler  Qummernsmy — @Gadler  FTESSMS
elleTd @ miger.
Discuss the role of social environment on business.

aumewtlLIF @ Lpedletm FeLps Linidlaner alleumslss.
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10.

11.

12.

Discuss the merits and demerits of non-banking
financial companies.

aumdl eens Bl Hneiamsaticn Hetanloser WLHMILD
@epur@samer LD elleurdléseaib.

Explain the role of agriculture in business
environment.

elwruny @edler CeauarmeanTanin Likiens edlemd: @ miser
Write how does the fiscal policy affect on a
business.

BlEs Qarareansenw ereueumm elamflasms LTHES DS
CTETLIENS 6T (LG MBIGHET.
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UG-240 BAF-24

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year
Accounting and Finance
BANKING THEORY LAW AND PRACTICES
Time : 3 hours Maximum marks : 75

SECTION A — (3 x 5 = 15 marks)

Answer any THREE questions.

1. Define Banking. Explain various function.
cumigludwed euengwim wHmb LGam CFwduThsamar
efleul.

2. What is meant by banking system?

GUMEBIE SIELOLIL| GTETDITC GTGITE?

3.  What is meant by Cash Credit?

LIGRTESL_6T GTGITMTE) GT6I6?



Define Fixed Deposit. Explain briefly fixed
deposit.

Blevowimer  eeully eueprum. HlevawepalliL LD
&(H&&Lns eflel.

Define Cheques and explain characteristics of
cheques.

sTGFTENE UMM LOHMILD ST Hementoseaner elleuifl.

SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

Explain the functions of modern commercial bank
in India.

@pdureie peien euaflseumdule Gawdurphasmar
oNleTE G

State the objectives of Banking Regulation Act —
1949.

aumidl s (HUur®h s 1b 1949-6r Chrésmiger wimeneu?

Explain the merits and demerits of making
advances against Life Policies.

aumpsens Gareransuien, (perGamdmd OHMID BHemanto

Sevganer alleurl.

Explain the characteristics of Negotiable
Instruments.

Cuds aumisanss@L_LLL LamLseaer afleurl.
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10.

11.

12.

Explain the essential features of a cheques.
srGamenauilen SHwimeusd wHMID LiewTLsamer cdlauifl.
Explain the powers and duties of Banking
Ombudsman.

9oL evinen F&8 LHMID SLanosemer ellauifl.

State and explain the objectives of monetary
policy.

vareilwed Qarerensuller Crrssmisamer adlauifl.
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UG-238 BAF-22/
BBCA-22

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year
BUSINESS STATISTICS

Time : 3 hours Maximum marks : 75
PART A — (8 x 5 =15 marks)
Answer any THREE questions.

1. Name the parts of a tabulate. Explain any two.
S Leauameanruflen Lismisamer GOLIGAHS. Saneusafler
FCH@ILD @) TeuTiqenaT el 6md: @

2. Write a brief note on the four phases of a cyclical
variation in a business cycle.
eumanflug @ LpeSlain BI6@ UENSWITET &HLP6d LOMMILIT(HSET

upd Ao GOILL euanTs.



State three properties of the coefficient of
correlation.

@enLumeys apailer epemm serenosene &MLk (Hs.
Solve by graphical method

QUETUILLD eLpauLD Si.

Min z = 3x; + 5x,

Subject to :

x, + x5 =200

x; <80

xy 2 60 and

x,,%4 2 0.

Min z = 3x; +5x,

Subject to :

x, + x5 2200

x, <80

xy 2 60 and

x1,%45 2 0.

Calculate the standard deviation from the
following data

40, 60, 90, 45, 55, 88, 72, 63, 71, 51.
Qarhssiul L aleursdlern S L ello&ss5mes HTams.

40, 60, 90, 45, 55, 88, 72, 63, 71, 51.
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PART B — (4 x 15 = 60 marks)

Answer any FOUR questions.

6. Short notes :
(a) Correlation and regression
(b) Time series and index number.
S @OILY euenrs.
(=) @LOwey HmID Agmiy CLTEES
(=) smeb gt QgTLi wHMIDL GO erewr.

7. Explain methods of measuring dispersion.
eLWCUTEE aTanel (pensHemer cllall.

8. Describe types of average.

Frrefuler cumaganer alleurl.

9. The number of workers employed, the mean wage
(in Rs) per month and standard deviation (in Rs)
in each section of a factor are given below.
Calculate the mean and standard deviation of all
the workers taken together.

Section No. of workers Mean Standard

employed wages deviation
A 50 1113 60
B 60 1120 70
C 90 1115 80
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Weeu(mid UL g wiedléd gpeu@leum flefgd Lemfl Lfluyb
Qemflemrerisefler cramantlsens, syraml wrg oardluib
(epumufed)  wHmd Sl Hessd  (epumude)
QarHssliu’ (heteren  @eunmledmbg  Csmfleomerigartien
U (B Qwrgg sgmafl HnID HI L lsssmEs ST s.

Section No. of workers Mean Standard
employed wages deviation

50 1113 60

60 1120 70

C 90 1115 80

10. The competitors in a beauty contest are ranked by

three judges in the following order:

Judgel: 1 6 5 10 3 2 4 9 7 8
Judgell: 3 5 8 4 7 10 2 1 6 9

JudgelIll: 6 4 9 8 1 2 3 10 5 7

Use the rank correlation coefficient to determine
which pair of judges has the nearest approach to

common tests in beauty.
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&G QamHdsliul(Herer <L eueneanrufley Lgg Gui
LB Qubm @@ ipEl Guriiguid aparm BHudser

QULPMEIEIL syblenesar o _GITETE. sybleane
L (Hne|seapames LwearL®sS ereueilm BHudsaflen
SIS, LG SewTGamTmLL LD QBmEsw

QFTLTLGTETSTUI 2_CT6rTg)| GTE SHeTL_Hs.
gHufHI: 1 6 5 10 3 2 4 9 7 8
gHuHIM: 3 5 8 4 7 10 2 1 6 9

BAUATI: 6 4 9 8 1 2 3 10 5 7

11. Prices of a particular commodity in five years in
two cities are given below:

Priceincity A: 20 22 19 23 16
Priceincity B: 10 20 18 12 15

Find from the above data the city which had more
stable prices.

@reanr(  mayrigefley  CummLsarflen evevsar 5
<gparigH@ EG QarhEsliuLl (Hererer.

Alig A uded elemer: 20 22 19 23 16

Sy Buldellewer : 10 20 18 12 15

Copaear. leurmigeflelmhgl, hs BarsHae alena

BlEnQUITE 2_6TeITg)| GTE SHTeuTs.
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12. Calculate 5 yearly moving average for the
following data of the number of commercial
industrial failures in a country during 1959-1974.
Year No. of failures  Year No. of failures

1959 23 1967 9
1960 26 1968 13
1961 28 1969 11
1962 32 1970 14
1963 20 1971 12
1964 12 1972 9
1965 12 1973 3
1966 10 1974 1

Do not plot trend values.
e Briiger 1959-1974 gy eam@psaiia gnul L cueamils
Qamedlen Corielseflen eramaniisens &G o crerer.
@euning 5 ek BaTb Fyrafanw sarsdl (Hs.

e Gorovelsafiean <pam® Cgraaisarfier

cTeTenilEens cresenilEens
1959 23 1967 9
1960 26 1968 13
1961 28 1969 11
1962 32 1970 14
1963 20 1971 12
1964 12 1972 9
1965 12 1973 3
1966 10 1974 1

Cums @, wdliysamer euayul CouerLmid.
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UG-226 BCS-21/BAF-21

B.Com. DEGREE EXAMINATION —
DECEMBER, 2019.

Second Year

CORPORATE ACCOUNTING

Time : 3 hours Maximum marks : 75

SECTION A — (3 x 5 = 15 marks)
Answer any THREE questions.
1.  What do you mean by share premium?
Ui panaold Lpdl BellT idleug wimg?
2. Explain the meaning of interim dividend.
QMLEEHTO LIBIGTSTULID eTarLIgen GlLmmeT allemd:@s.
3. What is Capital Redemption Reserve?

ELPEGE LU L] STLIL| GTEITDITED GTEIT6H?



From the following data, calculate profit prior to
incorporation :

Time ratio=1:2

Sales ratio=1:3

Gross profit = Rs. 1,70,500
Administrative expenses = Rs. 69,600
Expenses relating to sales = Rs. 18,600

Preliminary expenses = Rs. 11,560

Epsranibd efeurmsailelBhgl gl (O (HeursssHHE, (Lpe

2 _GTeT QTSNS SHarsd (hs.

Crrafldlgn =1 :2

elpuener elldlsd =1 : 3

Quwrgg @emub = ep. 1,70,500

Blreurs Cleoe|ser = . 69,600

alpuener Ggrienwi CFweyser = ep. 18,600

< ribL Aeflemmiger = em. 11,560.

X Ltd. issued 25,000 equity shares of Rs. 10 each
to the public on the condition that full amount of
shares will be paid in lump sum. All these shares

were taken up and paid by the public. Pass journal
entries in the books of the company when shares,

(a) areissued at par.

(b) areissued at a discount of 10%.
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X OG- 25,000 srgrgent ubiGseer ¢h. 10 aigb
QumgissEns@ Geualul@n Curg umdear Cwbrss
Qamensud oL anquns Gsss Ceuam(Hbd  ererm
Blubseneulley Geueflufl i Lg. SIDEMSF)
LI GSEmEITL LD QugIL&ESeT T HMIFHCETERTL_GOTT.
Epsranid GpHlaasaid Hinw Lssasdar Ldeajsamer
5O

(=1) swwdllnbe unigsmer teuafulHbCumg

(=) 10% sar@puguie Lunigsamer Geuatludl(BbGLTg).
SECTION B — (4 x 15 = 60 marks)
Answer any FOUR questions.

The following particulars relate to Limited
Company which went into voluntary liquidation.

Rs.
Preferential creditors 25,000
Unsecured creditors 58,000
6% Debentures 30,000
The assets realised Rs. 80,000. The expenses of
liquidation amounted to Rs. 1,500 and liquidator
remuneration at 2% on the amount paid to

unsecured  creditors including preferential
creditors.

Show the liquidator’s final statement of accounts.
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Yemeu(md efleurmigenerd Csmanr(h euenFUMISHLILIL L
fowsdear Quélflow Hows @hluy,  serermio
sl DsTaens SWiTilés.
€.

wperayfleno sLatbCorisar 25,000
WenemrwiBleveor sLaibCsmisear 58,000

6% sLaf_HUuusHrbd 30,000

Qarsgisaser bmSHEH 80,000 smelibpasrear Geway
Qgmens ep. 1,500 womd seeliumerier sardluib
2%  Qgmens  Ueemrwlleoor  sLABOST(HESE
Qeaussiiul L gl @Qde warayflewn sLaibCsmiser

DL_MBIGEUIT.

S Ltd. is absorbed by R Ltd. the consideration

being :

(a) The taking over of the trade liabilities of
Rs. 40,000.

(b) The payment of cost of absorption Rs. 15,000.

(¢c) The repayment of ‘B’ debentures of S Ltd. of
Rs. 2,00,000 at par.

(d) The discharge of ‘A’ debentures of
Rs. 3,00,000 in the vendor company at a
premium of 10% by the issue of
8% debentures in R Ltd. at par.

(e) A payment of Rs. 20 per share in cash and
the exchange of 4 fully paid Rs. 10 shares in
R Ltd. at a market price of Rs. 15 per share
for every Rs. 50 share in S Ltd. which were
40,000 in number. Calculate the purchase
consideration.
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R MA@, S AQL L enL FFiggi& QemerTL g, FrLma :

(=)

eflwrumys  sLenger . 40,000  er(HFHE
Q& meTEnse

iy g Ceeweyser emp. 15,000 Qeqsgisa

S OBCLLiyerr B sLemugdgrhsdr em. 2,00,000
sk (FaSHs60

edpuenanumert  BimeuarsSeyerer em. 3,00,000
‘A sLeugdrhsaer 10%  (pevarngdle
Ceasgi50. QaH@E s R BlCL g6 o cTer
8% sLerUSS rmIsmeT (PaSLG6 aphIEea
CQrrésors ealbeurm — umdp@n .20
Qegdgisd. S AOCLL 14 2 dmer eeublaim(m
. 50 umdp@n R NG en. 10 wdiyerer
UBI@aeT, 4 (ppeugid Ceqissitl L LikiGseamar
sheng WY @ 15 geulleurm  LkIGLD
QUPEIGSH M)

QameTapged mILWET SanTéd (Hs.

B Ltd. issued 50,000 redeemable preference shares
of Rs. 10 each, Rs. 8 paid. In order to redeem these
shares, the company issued for cash 30,000 equity
shares of Rs. 10 each at a premium of Rs. 2 per
share. Out of the cash proceeds the redeemable
preference shares were paid and the balance was

met

out of the reserve fund which stood at

Rs. 2,50,000. Give journal entries.
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B @LLZ 50,000 em. 10 Sy (perenyfeniols Lki@Gsar
som ep. 10, . 8 Ceaussliul L g Geuafludl (Hererg.
Qauperm WBLugpats Hlmeuend 30,000 grgmrewtl
uRIGseT  geom  @p. 10, ep. 2 (pevernS gL e
QeauaflldlLg). @eupder eugemeud Oamar®d LSLL
wergflenots LmGsar BlastiulLg wHmL LD
Ceuamriq W Qg TengHenw sl i3 1.
2,50,000-38 a0 (5! 6T(H&EId CaTem_g,.

GHUCUL L LFle|56T (Hs.

G Ltd. issues 1,000 6% debentures of Rs. 100 each
as follows :

(a) The debentures are issued and redeemable
at par.

(b) They are issued at a discount of 6%,
redeemable at par.

(¢c) They are issued at a premium of 5%,
redeemable at par.

(d) They are issued at a discount of 4%,
redeemable at a premium of 5%.

Give journal entries.

G AAQLL Gereuomm 1,000 6% sLarusHrhiser

gauGleurermid ep. 100 QeuafluidiGS gl

(=) sLem ugdrmser delafuil_iul L g, wpsndllide
B stiuL Ceuerig wig

(<) sLar LSS TBISET 6% SET(@mLIIq ulle
Qeuaflud it g WawLde B sl
Ceuamrig wig|
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10.

11.

12.

(@) sLem LSS ThISET 5% (PGS D
Qeauaflud i L g,  @swdifed  BSlslul
Couatrig wig|

(F)  sLemusSniseT 4% SemenLiquiley Gatefludl i g,
5% (pevernogdled L5 sl CeuiamTiq wig
GMUGULHL LfleyseT 5ms.

Give a Dbrief account about Managerial

Remuneration.

Cuemerigeflen FbLemDd @MlSg afleur.
Explain Contingent Liability.
Blapeygrt QurmitiLseT Lpbl edleréEs.

State the difference between Amalgamation and
Absorption.

Blmiw @enarriiL wHmid FTiL Coumum® ms.
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UG-046 CCE

B.Com./B.B.A. DEGREE EXAMINATION —
DECEMBER, 2019.

ENVIRONMENTAL STUDIES

Time : 3 hours Maximum marks : 75
PART A — (8 x 5 =15 marks)
Answer any THREE questions.
All questions carry equal marks.

1. Write about the importance of environmental
studies.

FHMIFGPeSlwedlan (p&slwsgleugeamsll LHMl eT(ps)s.
2. Discuss the over-exploitation of natural resources.

@Qunens eleTmiGMmeT SHELTE SraT(Heuamsls LHD
efleums).

3. Write about the eco system.

FDMIFSLPD LD 6T(PFIS.



Give an account on conservation of biodiversity.
LOQIUAT umgaTUL LD 6T(pSIs.
Write about the land resources.
Hle eueTmIGaeT Lim Ml 6T(LpS)s.
PART B — (4 X 15 = 60 marks)
Answer any FOUR questions.

All questions carry equal marks.

Describe the food resources.

2_amT6 GUGTRIGEET LIH M 6T(LSIs.

Describe the structure and function of ecosystem.
FHMIFSPSlan sLLawlil womb Ceuduriam ubm

eleufl.

Explain the energy flow in the ecosystem.

FHMIFE P60 D6 LU L SangL1 Limml eSlemd@s.

Give brief account on India as a mega diversity
nation.

@pdwuremeals Qurmsseiemruier e WSLELMw
L&T(p&S Setend ClasmenT BT erend @GO Hs.
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10.

11.

12.

Discuss the types and effects of air pollution.
STHOI OTHUTL 1q 6T eUEMEEHET HMILD allenereydsener LiHD

elleurd).

Discuss any five legal provisions to protect the
environment.

SHMESGPOOL UTHSTULSDST JCHeLDd Qbg FLL
elldlaaners Lmil elleurd).
Discuss the role of information technology in

environment and human health.

FHMFSHPNSGSD  walls RCrmedusdn@n 2 drer
S&6eu6 Gsmpled mIL L Lk undl efleurd).
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